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1. Να βρεθεί ο x στις πιο κάτω ισότητες : (β.5)

i) 100 x 

ii) 28 x 

iii) 27 3x 

iv) 4
1
16

x 

v) 15 125x 

2. Να δείξετε ότι: (β.3)

i) 24 3 3
18 2 3

 
 






ii) 3 3 3
1 36 5 10 1
2
    

3. Να λύσετε τις εξισώσεις : (β.12)

i)  8 15 3x x    

                                          Βαθμός   : …................



ii)
3 1 92 3

3 2

x x       
  

iii) 9 5 3 6 0x x   

iv) 2 2 0x x   

v) 14 10 2 4 0x x    

vi)  1 100xx   


